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Read the following passage and answer the questions from 1to 5:

Immanuel Kant wrote a treatise called “What is Enlightenment ?” in 1784.
He explained that ‘Enlightenment is man’s release from his self-incurred
tutelage. Tutelage is man’s inability to make use of his understanding without
direction from another. Self-incurred is this tutelage when its cause lies not in the
lack of reason but in the lack of courage to use it without direction from another.
Laziness and bdw_ardice are the reasons why so great a portion of mankind
remains under lifelong tutelage, and why it is so easy for others to set themselves
up as their guardians. It is so easy not to be of age. That the step to competence is
held to be very dangerous by the far greater portion of mankind is seen to by
those guardians who have so kindly assumed superintendence over them. After
the guardians have transformed their domestic cattle into dumb followers, and
have made sure that these placid creatures will not dare take a single step
without the harness of the cart to which they are tethered, the guardians then
show them the danger which threatens if they try to go alone. Actually, however,
this danger is not so great, for By falling a few times they would finally learn to
walk alone. But an example of this failure makes them timid and ordinarily
frightens them away from all further trials. “Have courage to use your own

reason !” — that is the motto of enlightenment.’

Enlightenment thought culmix}ated historically in the political upheaval of
the French Revolution. The traditional hierarchical political and social order —
the French monarchy, the privileges of the French nobility, the political power

. and authority of the Catholic Church — were violently destroyed and replaced by

a political and social order informed by the Enlightenment ideals of freedom and
equality for all, founded, upon principles of human reason. It gave rise to a basic
mode] of government founded upon the consent of the governed. This also taught
the society to expect that certain basic individual human rights and religious
diversity need to be respectet and realized by any legitimate political system.
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Why is man’s tutelage self-incurred ?
(1) Laziness .
(2) Lack of courage to use the understanding without being directed by others
(3) Itis dangerous
(4) There are no guardians
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(3) 3mesfiqu ST AEREYwn
(4) TIET, TR 37 q4H2 Te Uhaeaieh ared
Why does the majority of mankind remain under lifelong tutelage 7
(1) The guardians are powerful
(2) It is dangerous to walk alone
(3) Laziness and cowardice
(4) The monarchy, nobility and Church have great powers
8. TR B W dour e AT WG UeH Taga? 7
(1) Hafes == (2) vt w@e=
3y A R (4) THa
Which of the following did not form the ideclogical basis of the new French Order ?
(1) Catholic Church (2) Freedom for all
(3) Human reason (4) Equality
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Enlightenment resulted in the model of government that was founded on

(1)
(2)
(3)
4)

Acceptance of the people who were to be governed
Liberty, Equality and Fraternity
Human Rights

Religious Diversity
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What did the society learn to expect as a result of the Enlightenment ?

(L)

(2)

(3)
(4)

Any legitimate political system should respect basic human rights and religious
diversity. :

People should give consent to their rulers.
Humans should have the courage to think independently.

Freedom, equality and human reason should form the basis of a State.
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Read the following passage and answer the questions from 6 to 10:

Let us further consider the formation of concepts. Every word instantly

becomes a concept precisely insofar as it is not supposed to serve as a reminder of

the unique and entirely individual original experience to which it owes its origin;
but rather, a word becomes a concept insofar as it simultaneously has to fit
countless more or less similar cases — which méans, purely and simply, cases
which are never equal and thus altogether unequal. Every concept arises from the
equation of unequal things. Just as it is certain that one leaf is never totally the
same as another, so it is certain that the concept ‘leaf’ is formed by arbitrarily
discarding these individual differences and by forgetting the distinguishing
aspecté. This awakens the idea that, in addition to the leaves, there exists in
nature thé ‘leaf’ : the original model according to which all the leaves were
perhaps woven, sketched, measured, coloured, curled, and painted — but by
incompetent hands, so that no specimen has turnéd out to be a correct,
trustworthy, and faithful likeness of the original model. We call a person ‘honest’,
and then we ask ‘why has he behaved so honestly today ? Qur usual answer is,
‘on account of his honesty’. Honesty ! This in turn means that the leaf is the cause
of the leaves. We know nothing whatsoever about an essential quality called
‘honesty’; but we do know of countless individualized and consequently unequal
actions which we equate by omitting the aspects in which they are unequal and
which we now designate as ‘honest’ actions. Finally, we formulate from them a
qualitas occulta which has the name honesty’. We obtain the concept, as we do
the form, by overlooking what is individual and actuél; whereas nature is
acquainted with no forms and no concepts, and likewise with no species, but only
with an X which remains inaccessible and undefinable for us. For even our
contrast between individual and species is something anthropomorphic and does

not originate in the essence of things; although we should not presume to claim

that this contrast does not correspond to the essence of things : that would, of

‘course, be a dogmatic assertion and, as such, would be just as indemonstrable as

its opposite.
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When does a word become a concept ? _ |

a. When it is not supposed to serve as a reminder of the unique

b.  On account of its ‘honesty’

¢.  When it fits the cases which are never equal

d. By overlooking the universals

(1) Onlya (2) Onlyaandb

(3) Onlyc 4) | All of the above
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How is the concept of leaf formed ?

a.  Arbitrarily discarding the individual diﬁ'erencés

b. Forgetting the distinguishing aspects

¢. Bynature .

d. By imitating the original model

(1) Onlya (2) Onlyaandb

(3) Onlya,b andec : (4) All of the above
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What does the nature know, if not the concepts ?

a. The individual and actual

b. Essence of things

e.  Equation of unequal things

d. It is inaccessible and undefinable

(1) Onlya (2) Onlya,bande
@ Onlyd - (4) Onlybandd
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What actions does a leaf perform if it wants to get equated with the concept of leaf ?
a. To become one with individual differences

b. To discard the distinguishing aspects

c.  To forget the distinguishing aspecis

d. The equation of unequal things

(1) Omlyaandb - (2) Onlycandd

(3) Onlya bandd | (4) Onlyb,candd
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Which experience should count as a parameter of formulating a concept ?
a. The original experience
b. The instant experience
c. 'The equating principle
d. None of the above

(1) Onlya,bandc -

{2) Onlyd

{3) Onlyc

{4) Onlyaandb
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Read the following passage and answer the questions from 11 to 15:

Bottled Water and Its Environmental Cost

The next time you buy a bottle of drinking water, you need to pause and
think. You may not bat an eyelid shelling out T 15 for a litre of bottled water but
what you don’t realise is that you are actually paying over 4,200 times of what
you norﬁnally pay for a litre of tap water.

" "Phe economics of drinking water has always baffled me. What is perplexing is

. that the average urban middle class squirms and protests if the Delhi Jal Board,

for instance, tries to ‘nominally’ raise the price of tap water. Paying a little over

one paise for three litres of tap water (DJB prices tap water at ¢ 3-50 per
1000 litres) they feel they are already heing made to pay through the nose,

Price being of little constraint for the consumers, the global bottled water
industry is galloping. In 2004, the world consumed 154 billion litres, of which
India’s share was 5-1 billion litres. Expected to grow at 40 percent annually, the
¥ 1,800-crore bottle water industry is experiencing unprecedented boom with over
1200 water factories doing business throughout the country.

If you think bottled water assures you of purity and safety, it is time you
think again. Even in the U.S., despite strict quality norms formulated by the Food
and Drug Administration, it is safely assumed that nearly 40 percent of the
bottled water is repacked pipe water.

Shockingly, what is little known is that more than five litres of water is
required to produce every litre of packed water. In other words, 770 billion litres
of water were used to produce and pack the 154 billion litres of water that the
world consumed in 2004. What a colossal waste !

Bottled water also has additional, hidden environmental costs. Aceording to

the Pacific Institute in California, the entire process of making plastic for the
- bottles requires huge energy. In America alone, where nearly 26 billion litres of
bottled water was consumed in 2004, an equivalent of 20 million barrels of oil was
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required every year to manufacture and transimrt the bottles. The accumulation
of plastic bottles in the landfills also adds to global warming besides
contaminating the groundwater.

But are people beginning to see the damage being done by the bottled water
industry ? Yes, a number of restaurants in the U.S. have begun to serve only
filtered water to customers instead of bottled water. City authorities are also
waking up. Recently, San Francisco Mayor, Gavin Newsom has issued an order to
ban city departments, agencies and contractors from uéing city funds to serve
water in plastic bottles and in larger dispensers when tap water is available. His
argument is that for the price of one litre of bottled water local residents can
purchase 1000 litres of safe drinking water from the taps.

11,  arelee g wiawfy e we o ?
T W, 20 Zme duTeRT g anw
q, - e a9EE 916

F. yFTE TG
5. Fdfwo
(1) &9 A o g
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(3): wad o, o oufor %
4) TR F T
What is the environmental cast of bottled water ?
a. 20 million barrels of oil
b. QGlobal warming
c. Contamination of groundwater
d.  Deforestation
(1} Only aand b
(2) Onlybandc
(3) Onlyabandc
(4) Onlycandd
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Which of the following steps are taken in the U.S. to reduce the damage caused by

bottled water ?

a. Serve only filter water in restaurants

b. Ban city departments, agencies and contractors from using city funds to serve
water in plastic bottles

c. To ban water from bottles in large scale where tap water is available

(1) Onlyaandb ' (2) Onlyec

(3) Onlyaandc (4) .All of the above
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Which of the following statements is no# correct about bottled water industry ?

a
b.

e

(1
(3)

Global water industry is galloping.
There are 1200 bottled water factories in India.
In USA 50% of the bottled water is repacked by pipe water.

Accumulation of plastic water bottles in Iandfills adds to contamination of
groundwater. '

Onlyaandb _ (2) Onlycandd
Only ¢ (4) Onlyd
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How much water is required to produce every 1 litre of bottled water ?
(D) 2litres

(2) 4 litres

(3) 5 litres

(4) 100 litres

15.

Tt T A 2

(1) 10 &=ty

(@) 20 vEw

(3) b53mw
(4) 2<3wW

In U.S., how many barrels of oil is required every year to manufacture and transport
the bottled water ?

(1) 10 million
(2) 20 million
(3) 5 million

(4) 2 million
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Read the following passage and answer the gquestions from 18 to 20 :

Paverty springs from a number of sources, the more important of which are

controllable. So does special privilege. I think it is entirely feasible to abolish both

poverty and special privilege and there can be n¢ questions but that their
abolition is desirable. Both are unnatural, but it is work, not law, to which we

must look for results.

By poverty 1 mean the lack of reasonably sufficient food, housing, and
clothing for an individual or a family. There will have to be differences in the
grades of sustenance. Men are not equal in mentality or in physique. Any plan
which starts with the assumption that men are or ought to be equal is unnatural
and therefore unworkable. There can be no feasible or desirable process of
levéling down. Such a course only promotes poverty by making it universal
instead of exceptional. Forcing the efficient producer {o become inefficient does
not make the inefficient producer more efficient. Poverty can be done away with
only by plenty, and we have now gone far enough along in the science of

production to be able to see, as a natural development, the day when production

and distribution will be so scientific that all may have according to ability and
industry.

The extreme Socialists went wide of the mark in their reasoning that
industry would inevitably crush the worker. Modern industry is gradually lifting
the worker and the world. We only need to know more about planning and
methods, The best results can and will be brought about by individual initiative
and ingenuity — by intelligent individual leadership. The government, because it
is essentially negative, cannot give positive aid to any really constructive
programme. It can give negative aid — by removing obstructions to progress and
by ceasing to be a burden upon the community.

The underlying causes of poverty, as I can see them, are essentially due to
the bad adjustment between production and distribution, in both industry and
agriculture -— between the source of power and its application.
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16. Wefigsdmdtzd=h___  sma.
OV (2) s
(3) wRAvawrSt vwft (40 ledd o
) P_ovefty and privilege both are
(1) Natural - (2) Unnatural
(3) God-gifted B (3) All of the above

17, e s, (e S s o 2
(1) ST I
(2) - AT HYH
(3) wRiwn (Fram) s
@ ¥, 99 9 fanen svE
Poverty is defined as
_ (1) Lackofland
(2) Lack of food
{8) Lack of housing

{(4). Lack of food, housing and clothing

18.  srafis 9 swema o 7 o= Frree e fee e e 7

(1) Fet smale gEn gt

(2) R B M 7
@) i & R T R
(4) IFA WHH T

- What is assumed in an unnatural and unworkable plan ?
(1) Nature provides unlimited resources
{2) Men are or ought to be eq1_1a1
(3) Urbanisation is the base for development

(4) Equal distributien of income
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19,  EHEEE A
(1) Seifirm ¢ wmEr Ao g R
(2) WieawER § TS Al s
(3) e B wHETH fiaus waa
(4) IR 31 TEHTETST FOM HA1EE
Socialists are of the opinion that
(1) industrialiéation is against common man
{2) Capitalists are against the workers
(3) Industry would crush the workers

(4) Workers are the backbone of development

20, R=dwr STV AR TR RaE gaAre R ?
H,  GEHR YEd: TR A,
4. WK GHCHE Hed 35 Wde,
F. WK THIHE 960 35 T,
(1) ¥
(2) d A IO F
(3) wa A, 9 AT F
4y ‘F‘Fﬁ <)
Based on the passage, which of the _fnllowing'statements is not correct ?
a. Government is essentially negative.
b. Government can give the positive aid.
¢.  Government can give the negative aid.
(1) Omlyb |
(2) Onlyaandec
(3) Onlya,bandec
(4) Onlya
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Read the following passage and answer the questions from 21 {0 25 ;

Sound waves are formed due to vibrations of particles and propagate in a
material medium in the form of longitudinal waves. The sound waves of frequency
less than 20 Hz are called infrasonic waves. The human ear can hear the sound
waves between frequency range 20 Hz to 20000 kHz. This is the audible range.
The sound waves of frequency greater than the audible range are audible to
certain animals such as cats, dogs, bats, etc. These are the ultrasonic waves.
While flying, a bat produces ultrasonic waves. These waves strike obstacles in
their path and are reflected. The bat can use echoes to detect the ohstacles and
hence avoid collisions with them. Thus a bat can find its way even is the dark.

Ultrasonic waves are produced by piezoelectric oscillators and
magnetostriction escillator method and detected by Kundt's tube, Quartz crystal
and Thermal detector methods.

The waves having more ﬁ-equency, possess more energy. Hence ultrasonic
waves possess high energy. Like sound waves, ultrasonic waves also get reflected,
refracted and absorbed. Their velocity increases with frequency.

Ultrasonic waves are used in many industrial, scientific and medical sciences.
Sound navigation and ranging (SONAR) is the instrument which can produce,
transmit and receive ultrasonic waves, This techmque is used to determine the
distarice and location of underwater objects such as submarines, icebergs, etc.
using ultrasonic waves. It can be used to determine the depth of the sea. For this
a transmitter and a detector are installed in a ship. Ultrasenic waves are also
used for ship to ship communication, welding plastic surfaces, to kill bacteria in
liquids like milk to preserve them, in echocardiography, for imaging internal
organs of the human body, in industry to clean parts of machines, to detect cracks
and flaws in metal blocks.

21.

TG an 7 WY HEAE.

1 F=Ea (2) SAga

(3) TORWEEE | 4) f&r
Ultrasonic waves are in nature. .

(1) Transverse . (2) Longitudinal
(3) Electromagnetic (4) Stationary
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(1) Wra O wha T - (2) wa ¥
(8) i araRa FH M (4) wOeh At
Ultrasonic waves are those waves which
(1) human beings cannot hear (2) human beings can hear
(3) have less frequency (4) None of the above
23,  TEAAT SR T TR SR SR
(1) 3aq (2) 3I[™AFF qT
(3) m=EWETT (4) AT
The echocardiography technique is based on _ '
(1) Transverse waves (2) Infrasonic waves
(3} Ultragonic waves (4) Longitudinal waves
24, W= WiEl HEvETEE a1 TAET IR A
1) e fedae (2) Feg g
(3) vifferet | (4) ¥R (SONAR)
To determine the depth of sea this technique is used :
(1) Thermal detecfor - ' (2) EKundt’s tube
3) Oscillator | (4) SONAR
25,  SHAWdl mﬁwmm;ﬁﬁﬁﬁﬁwmmwaﬁ
(1) 20 Hz Y@ 5+t
(2) 20 Hzd 20 kHz amea
(3) 20 kHz Tan s
(4) o Tl T

. The waves of frequency are used to kill the bacteria in liquids like milk.

(1) lessthan 20 Hz

(2) between 20 Hz to 20 kHz
(3) greater than 20 kHz

(4) None of the above
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Read the following passage and answer the questions from 26 to 30 :

The subject Plant Breeding, although developed in recent times on modern
scientific lines after Mendel’s discoveries, was known in early times to Egyptians
and Assyrians. Later during 18" and 19™ centuries several artificial crossings
were made by many workers and interesting results obtained in the form of new
varieties. But it was Mendel who first laid down the foundations of plant breeding
on scientific basis and formulated the laws of inheritance of characters.

Hybridisation between two varieties of a species brihgs about a combination
of desirable characteristics. A plant breeder specializes in crossing plants with
the desirable character. Thomas Fairchild (1717) was the first pérson to obtain a
successful hybrid by crossing Sweet William and Carnation. The knowledge of
Mendel’'s laws has made the job of a plant breeder scientific, reliable and
predictable. In bisexual plants the anthers of stamens of the female parents have
to be removed (emasculation) in order to prevent self-pollination. Emasculation is
not required in unisexual flowers and in the self-sterile bisexual female parents.
Male sterility has been reported in Maize, Wheat, Sorghum, Barlelv, Cucumbers,
Tomatos, Onion and Sunflowers. |

Sterile males are of great help in raising hybrids of desirable characters.
Stigmas of the carpels are enclosed within polyethylene bags since the early stage
to prevent pollination by the pollen grains of unwanted plants. The bags are put
back in place after dusting the stigmas with the pollen grains of desirable plants.
This process is called bagging.

Hybrids : The hybrids are usually interspecific i.e. intervarietal. Interspecific

- and intergeneric hybrids are not possible. A rare example of ihterspeciﬁc hybrids

is the Mule in animals and the Triticale is an intergenetic hybrids between Wheat

(Triticum) and Rye (Secale). Such hybrids are bound to be sterile due to lack of

homologous chromosomes. Generally, a hybrid may be heterozygous for only one
gene or for a number of genes.

The breeding of hybrid corn is a very significant example of hybridization. It
is obtained by crossing two inbreed or homozygous lines of maize. The inbreed
lines are true hreeding and highly uniform.
O T SN / SPACE FOR ROUGH WORK | P.T.O.
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Hybrid vigour or Heterosis : The hybrids often exhibit hybrid vigour which is
defined as the increased vigour (superiority) of the hybrid over either parent in
one or more traits e.g. in growth, yield, disease resistance, etc. Maize plants
exhibit a very high degree of hybrid vigour (25% higher yield). Other plants
showing hybrid vigour are Sorghum, Rice, Bajra, Sugarbeet, Petunia, Cabbage,
Cucumber, etc. The plants which are self-pollinating types lose heterosis by
inbreeding and therefore, pure parental lines are crossed every year to obtain
seeds with high degree of heterosis.

On the other hand, hybrid vigour is not Yost and persists if the desirable
hybrid once obtained is subjected to vegetative propagation e.g. Mango, Apple,
Guava, Dahlia, Chrysanthemum, Rose, etc.

26, fiEmm g
(1) 3Igd Scaiadn Tae
(2) cufeada feom |
(3) oW Fban arferp arfefta e firgm
(4) A TRITR HIR A3
Heterosis is
(1) Appearance of spontaneous mutations
(2) Induction of mutations
(3) Mixture of two or more traits
(4) Superiority of hybrids over their parents

27. GRfEtH ?ﬁmm FRoTETS! fieeara IR FaE ?
(1) @A Wi v
(2) e WoTfaed Trevare!
(3) 3o wmidem A womE
(4) RN WrET TR
Bagging is done to
(1) Avoid self-pollination
(2) Avoid cross pollination
(3) Achieve desired pollination
(4) Prevent contamination from foreign pollen
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I[E A=A | TEO
(1) P et ugare e snftr d@ey
(2) waa B EfeE ToRETe e

(3) R SIS TORETT A I FAaRR Taeen U

(4) I TRGHT HIERIS TR e
Pure line breed refers to

(1) Heterozygosity and linkage

(2) Only heterozygosity

(3) Homozygosity and sel” issortment
{4) Only homozygosity

X038

28,

Tl TS AT AR FAT St S e ?
(1) = nftr 3g=n

(2) IdfEes s Fag

(3) Fag anfor oy

(4) 3aFnT 3T SeafEdH

The new varieties of plants are produced by
(1) Selection and Introduction

(2) Mutation and Selection

(3) Selection and Hybridization

(4) Introduction and Mutation

(1) e S

(2) TR SR T

(3) FISAT TICATNT SHIET BITRY Yotiead! Sgrfar
(4) FOEH e |
Heterosis lost due to continuous inbreeding in known as
(1) Hybrid vigour

(2) Outbreeding pressure

(3) Inbreeding depression

(4) None of the above
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Read the following passage and answer the questions from 31 to 35 ;

During the interactions with a group of standard VI students, Dr. Sarvesh
demonstrated various experiments involving physical changes viz,
Vapourisation/Evaporation (liquid to gas), Melting (solid to liquid), Sublimation
(solid to gas) and Chemical changes viz, Neutralization (reaction between acid

- and alkali), Precipitation (reaction between ammonium chlondefpotassmm
chlonde and silver nitrate).

This group enjoyed the session and demanded little more information
regarding detection of cations and anions in the given solution. With this demand,
Dr. Sarvesh designed three experiments (one by observing the changes in the
colours of the test papers and another, just observing the change) to detect the
presence of ammonium radical in the given salts.

Dr. Sarvesh dissolved a small amount (approximately 0-100 g) of each, solid
ammonium chloride and solid potassium chloride separately in 20 cm of
de-ionised water, in two different test tubes labeled ‘1’ and ‘2’ respectively. Two
drops of each of the above solutions were separately taken in three different dry
test tubes forming two different sets; one set kept on the extreme left and another
on the extreme right. The three test tubes, in each of the two sets, were gently
heated on adding six drops of 2 N sedium hydroxide (alkali) to each and the
evolved - gases were carefully brought in contact, separately, with a moist red
litmus paper, a moist turmeric paper and a glass rod dipped in dilute hydroechleric
acid.

Above the test tubes on the left hand side, in the first case, the paper turned
blue (this was exactly opposite to acidic gases which turn moist blue Litmus red),
in the second case the paper turned brown and in the last case dense white fumes
of ammonium chloride were observed. No such changes were observed in the
colours of both the papers nor dense white fumes above the test tube on the right.
Dr. Sarvesh explained that during the reactions between the reagents gaseous
ammeonia is liberated which is alkaline in nature and inferred that the solution in
the left hand side test tubes contains ammonium radlcal while that in the right
hand side test tube does not.

_ Dr. Sarvesh then asked students to perform the test. In the first experiment,
Ms. Riya, in addition to the, earlier observations, found red litmus turning blue for
the test tube on the right while Mr. Ravi, did not get the desired colour change of

* the turmeric paper on the left hand side test tube. Dr. Sarvesh explained to the
students the proper way to perform the tests. Following the instructions from
Dr. Sarvesh, when the students correctly performed the tests, they got the desired
results.
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(4) emifmy FeTEe oA faraed, g deaTeiia T

The following conclusion can be drawn from the above passage :

(1) Ammonium chloride is only soluble in water

(2) Ammonium chloﬁde is soluble in water as well as could be sublimative

(3) Ammonium chloride is only sublimative

(4) Ammonium chloride is soluble in water but not sublimative

32,

smitfran geeTen AFRETS T e sgea

(1) o ferews Pt 80, geadien wrIE e @0t ofr ot g ama gefaeem

e wEET R w9 |

(2) v fegw P B0, el wrg TRl Ba anfor e TegEeiE smem

3y fer feaw @@ @9, g8 BE qufhl @9 Pl fane TESEIG  sned
Fefdear FE=AT FEIRE 2 W 96 AX

(@) T freae fest d, mmmﬁﬂﬁmﬁmﬁiﬁmm@%ﬁ
Hi== FHLGd I e ITH AN

The correct observations due to the presence of ammonium ions are

(1) Turing red litmus blue, turning turmeric paper red and evolving dense white
fumes from a glass rod dipped in dilute hydrochloric acid

(2) Turing red litmus blue, turning turmeric paper brown and evolving dense
white fumes from a glass rod dipped in dilute hydrochloric acid

(3) Turing blue litmus red, turning turmeric paper brown and evolﬁng dense
white fumes from a glass rod dipped in dilute hydrochloric acid

(4) Turing red litmus blue, turning turmeric paper brown and evolving dense
white fumes from a glass rod dipped in dilute potassium chloride
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(4) O HIvEE AT
Ms. Riya did not get the desired observation, because she brought
(1) ared litmus paper in contact with the evolved gases above the test tube on the
right.
{2) a moist red itmus paper in contact with the evolved gases ahove the test tube
on the right.
(3) a moist red litmus paper in contact with the solution of the test tube on the
right.
(4) None of the above
84. st T Rk Fifiew free a4, waﬁ
(L) Eﬁﬁmmqﬂm&ﬁmﬁmmmﬁam
(2 mwmﬂﬂmHﬁwmmﬁTm
(3) A=A (1) zahr (2)
, (4) et HroCE T
' Mr. Ravi did not get the desired observation, because he brought
(1) a turmeric paper in contact with the evolved gases above the test tube on the
left
(2) a turmeric paper in contact with the evolved gases above the test tube on the
right
(8) both (1) and (2)
(4} None of the above
35, 21 T2 6l AN Fedl, HAvl

A, vanfw fufrins

q, IgrETE Al
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(1) wead A o7 € (2) ad ¥ 30 &
(3)  FEa A M F 4 A, T
Observations about white dense fumes are seen

a. as aresult of a chemical change '

b. as aresull of neuirahzation reaction

c. because ammonium chloride sublimes

Which of the following options are correct ?

(1) Onlyaandb (2) Onlybandc
(3) Onlyaandc (4) a,bandc
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" Read the following passage and answer the questions from 36 to 40 ;

[}

Robert Frost once famously defined a liberal as someone who could not take
his own side in an argument. But contemporary constructions paint an opposite
picture: Liberals are seen as self-satisfied ideologues with no stomach for a
diversity of ideas. Exposing the political hypocrisy of liberals has become a
rhetorical gambit to delegitimise the idea of liberalism itself. Alas, it has to be
sélid that those who use this gambit have much ammunition to deploy. But there
are also other sources of concern. Nicholas Kristof in a widely (iiscussed New York
Times column, argued that the hiring practices of American universities were
biased against conservatives. Liberal institutions, rather than becoming shelters
for diverse ideas and genuine contestation, were turning into monoliths of
political correctness. Liberals were supposed to be able to think out of their skins;
now they imprison themselves in boxes. Similar charges have been voiced in

India, most recently by Gurcharan Das.

These charges are often political gambitsl. The charge that liberals exclude
and ostracise conservatives comes in many forms. There is oné version of this
charge that liberals do not have to be defensive about. A conservative
presumption in favour of an old order is quite often associated with hierarchy;
this usually has the odour of sexism, racism, homophobia, casteism, and hostility
to minorities. Sometimes liberals can promote a kind of faux sanitisation of the
intellectual environment in ways that close off debate. But the idea that
institutional spaces should not legitimise sexism, racism, casteism, and

xenophobia is one that every decent society ought to promote.

There are conservative articulations that can, subtly or unsubtly, target
specific groups. They make people uncomfortablée in ways that have nothing to do
with intellectual argument. Liberals are entirely right to be suspicious of these
positions. To not be suspicious would be to abdicate a commitment to human

dignity itself.
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36. Jar=aE T o fifva Freed wig wwar i Tl R ¥ O e,
(1) AEHETS T (2) IERATETE!
(3) YmER (4) oEF
From the paragraphs you can definitely conclude that Robert Frost is a/an
(1) Self-satisfied person (2) Liberal
' {3) Conservative (4) Author
37, 3IIAWe ' -
(1) IgrAqEEArE Tt el
(2) IgEATETRIIR E el d
(3) SERHALTR QUMREIRANE S A J8 favm I ame
(4) JUUMREE SERAFARANGT @ AW 38 faur F g
'The paragraph '
(1) praises liberals
(2) criticises liberals
(3) argues that liberals are better than conservatives
. {4) argues that conservatives are better than liberals
38,  omihdiE faardiamed s wetad=an wn ferreft g

(1)  TRIoTHAETEATE

(2) R FAT SEAHAETEAAT

(3) W U FAWATA ACHETE IGHAAIEHTAT

(4) G FH=A) [T

American universities have hiring practices opposed to
(1) Conservatives

(2) Liberals with on open mind

(38) Self-gatisfied liberals having a closed mindset

{4) Open minded conservatives
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(1) JOwmETEE e HUT SERAdad] FTHAE

(2) TUREER] WS "

(3)  neyligo FHOR IGRWAATE

(4) aﬁmﬁwwﬂm

Nicolas Kristof 1s a

(1) liberal columﬁist criticising conservatives
(2) conservative columnist |

(3) . introspecting liberal |

(4) introspecting conservative

40, Wé\@iﬁ AR.
(1) S |
(2) ouférft | 3 srEEg |
(3)  SeRmATGA T e B et R R
(4) yomEEEEEEA fefa

The author of the paragraph is

(1) racist

(2) hm-:nophobic

(3) worried about the &eterioratiﬁg condition of liberals

{4) worried abqut conservatives
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Fgca. fagen gadier wTEOnE AEaQl enfor Ui g NN dRE @
HEIATGATSTS IR TS A . FA A AR IAGR ool qeraer; A Tqa =
Tofifs A eEEEl TSR YEIREET Y9G 9. A TR $A gt W §eEn
sfrka fawafe seareda ofder T, § Reasaa B, Irg 77, i 89, 9@
A TS gEe AT, i AR S Seddien Nk AP, §.8. 1895 9@
ATRH HATT . T 1901 T6) T Tl TOrRIIG HieEd!, ST A JSaeen
o M0 MES 7t Joehes AW el ANTHCT] Qb i1 YO gl fie vae
F TS, & @ FEE1 T A e’ TR, SR, e A g 3R 9
TEETTES B, O Y S e NG W ATSN FEVR GSARs e qgelt T,
I Qe AESATIR 7 BN, WR TR =¥ SR e agwee st
AHATIEE! Fo7al. 78T @RI Yeatd Uid ureld gmifas Siarde Jee T S
T I T TSSOl T W SAIeen ). FevE TR B Il Sueei
I =R o I wrfrs wnaEiter areTine g gt |/t wiey IR
HENTZI SRR Jaadie] Jaaue Jae.

TERIS YR FREN IR TR, d58 HICE] OXU=AT MEAEAvas Swauiee
WO AT, @ TS AGFH T UHAS Aok AT, 9 N AT S=RiEER ety
AEAETA el vhs g6 FHefl. M=l FEE FNigw e T WE wew
g e . S e gt e T g T 89 g Farh gem
FESI ag AT AR, @ sgsEETe Il Fwe e e @i
U urHen; A0 Ao il wuey U /T g FHATEE! 99 ft SURESAT SHefl,
TS 1 SET ST fae wue A A TREET A wo S e
JNSE, AP WWWHWW@WWW?@W&
T HA T B,
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(D)
(2)
3)
(4)

Tsarde fafay wma AR Fea.

f@lﬁwam%mﬁmmsnmm.

T & AT
o § T T
ad H A g

w A A &

42, TEIAT $A e dEER yfen qiom e ?

A,

L

%,

3.

(1

(2)

(3

(4)

ferdre aftn wifiids Grreer SRR TRIER) @ AT YA G .

T W Sl T e T, |

TR T & R, AR, fTt ok, ST T i 6 e,
eyt St S e,

Hd 3 AT B
G § Hifor &
Tdd & AT T

W:ﬂaﬂﬁm;
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43. WEOM B T fRR agsmawerea T= 9ge Eid, H
4. m&mmgﬁwwm
% T Yafis am s seTe YR T SR T S
T AEOEEERTA RIEUT TER wTere e, |
(1) wF A AT H (2) oG Y

| (3) B3 4) TRH

s S TR ST S g G e ?
¥, YO SEEuiErs SN g, |
F.  TEREEH GBS UG U SIS SeTdier Sae T8 TR TEEHT B A Haey

T TS, IR, TEe a fa=m aumer=ar o=t 9g 1.
(1) waa A2 s (2 FREA™E
(3) e = U 3 ‘ (4) e Q I

45,  WEHESTEA WHTN UROAT 9 Sfefalgrrear St denan Al w1 sren 77t ?
A e ST WO e
¥, o 89 ARl S @EEae S99 AR dre ordl-arsaeft aved USA o

¥ WECH B A A Sl A (R i W e aeiye g aie
qig wweh, .

3. O SIS TR I T S,

(1) waa 9 Al = (2) wemaonfrg

(3) T o 3 : (4) g sl g
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Read the following passage and answer the questions from 46 to 50 ;

The town belongihg to the colonized people, or at least the ‘native town’, the
Negro village, thelmedina, the reservation, is a place of ill fame, peopled by men
of evil repute. They are born there, it matters little where or how; they die there,
it mattérs not where, nor how. The ‘native town’ is a hungry town, starved of
bread, of meat, of shoes, of coal, of light. Tﬁe native town is a crouching village, a
tt&wn on its knees, a town wallowing in the mire... The look that the native turns
on the settler’s town is a look of lust, a look of envy... The colonized man is an
envious man. And this the settler knows very well... It is true, for there is no
native who does not dream at least once a day of setting himself up in the settler's -

. place.

This world divided into compartments is inhabited by two different species.
The originality of the colonial context is that economic reality, inequality, and the
immense difference of ways of life never come to mask the human realities. When
you examine at close quarters the colonial context, it is evident that what parcels
out the world is to begin with the fact of belonging to or not belonging to a given
race, a given species. In the colonies the economic substructure is also a
superstructure. The cause is the consequence; you are rich because you are white,

you are white because you are rich.

In the colonies, the foreigner coming from another country imposed his rule
by means of guns and machines. In defiance of his successful transplantation, in -
spite of his abpropriation, the settler still remains a foreigner. It is peither the act
of owning factories, nor estétes, nor a bank balance which distinguishes the
governing classes. The governing race is first and foremost those who come from |

elsewhere, those who are unlike the origiﬁal inhabitants, “the others”.
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46. Why is the ‘native town’ a hungry town ?
| a. It did not have agricultural farms,
b. It did not have markets. '
c.  The blacks were steeped in poverty.
d. They were denied their fundamental rights by the whites,
(1) Onlyaandb (2) Onlycandd
(3) Onlya (4) Onlyd

- 47.  Why does the native lock at the settler’s town with envy ?
a. It arises from a sense of desperation. -
b. He has no other option in his life.
c. He wants to occupy a position of power.
d. He wants to be the colonizer instead of the colonized.
(1) Only ais correct (2) Only bis correct
(3) aandd are correct (4) ¢ andd are correct

48. What is the settler’s attitude towards the blacks ?
a. The settler is not afraid.
b. The settler considers the blacks to be harmless.
¢. The settler is contemptuous of the blacks.
d. The settler feels resentment because he knows that his position is never safe.
(1) candd are correct {2) Onlyais correct
(3) Onlydiscorrect ' (4) band c are correct

49.  The statement ‘you are rich because you are white’ means
a. That your gender defines your status in the colony.
b.  That your race defines your status in the colony.
c.  The place that you come from defines your status in the colony.
d. The language that you speak defines your status in the colony.

(1) a and e are correct : (2) candd are correct

(3) Onlybis correct {4) Only d s correct
50.  In spite of seizing the land the settler always remains

a. anative b. an ally

c. aforeigner ' d. None of the above

(1) Only d is correct (2) Only cis correct

(3) b andcare correct (4) Only ais correct
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Y
VAR
|
X B
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A
N &y
M (2)
laNa | | ﬁ\fw
(3) (4)
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Select the fold of transparent sheet X from the given options.
|
‘ N
| >
X b
&
Q
M G L
™ N - o g
() o ®
. N A U
W\ Y
(3) (4)
Lot m'l'ﬂ'lﬂ' SIFTT / SPAGE FOR ROUGH WORK P.T.O.
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63. feorch mfedh 9 Tgsy 3naamem & ot geifeowy wafe R
x + y Ffid w@ & x & y =it 318 om.
x — y Fiifra = & x @ y 1 WIS .
x + y [ = F x @ y < o 3w,
x x y TEf ®a &t xd y = gl am.
m+n-oxp+q
W) o e et o
(2) m,n,o,q# p A I
(9 m,n,of p i q T I,

(4) m,n,o,p# g I A,

Study the information and relationship given and select the option that shows it.
X = y represents that x is the mother of y. |
x — y represents that x is the brother of y.
X+y represénts that x is the sister of y.
x x y represents that x 18 the daughter of y.

m+N-0xp~ q

‘(1) All persons are siblings.

(2) m,n,o, qare the children of p.

(3) m,n, o are the children of p and q.

(4) m,n,o,pare the children of q-
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55. H,Hﬁaﬁﬂmwuﬁwﬁmﬁspﬁﬁm maﬂﬁrmmgﬁmﬁmﬁm
AR E AR -

gar: 6,%, 1,#9,H,E 2,Q,V,LLF, &

T:@,7,3,[,A,0,8,0,X,4,%C,+

S%: P, §8,Y,0,N,5D,5=7xT
o FF SR e W W @@ (e Fam ffRm w81 e o, Sioed e
e BV A, oA e wiftrkdie aunfa e seeval Graw e ey st
IR, P AT MRl 37 o% SR ot TR ! ok, Saeed i
faen wifedrdier sa¢ ueH IomaT AHhgd EETEEN GEAT WG AR, mnﬁmﬁaﬁ :
AIfeTRieT AT U3H Ta. mﬁawmrnzﬁam
1 X8
(2) G Q,5
3 J;v,0
4 X 8,%)
Suma, Bano and Jack, each have prepared their own English alphabets, digits and
other symbols series as follows : '

Suma: 6,%,1,# 9, HE2Q,V,LF, Q@

0:@7,3AJ,0®X,4,%C,+
JaCk : P, $, 8, Y, 0; N; 5’ Ds > S Z’T

They have devised a play of forming groups of three elements with the following
rules. No element will be repeated, Bano is supposed to move alphabets by starting
from the right end of her series, Jack is supposed to move elements of digital
symobols from the left end of his series, and the last person will move other elements
from the right end of her series. They moved their elements according to their sena.l
order each time. Select the group that ends their play. :

1 X 08)
@ (€, Q5)
3) J,9,0
4 (X,8,%)
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56. HEgeH Fgdl gE@aSe A, B, O, D 3 E W1 SEEAHT STSURAT TRGTEl TR ST,
e Fradiem FIvEd suEdiIE gea we Yol TId ATiaes waa Whe ST Thed
ol A S AR A F. A FEE G S F@rEdigy gear wefl = gwnedia
e TR o A, T waie gf Fom fvm Reer g fee

(1)
(2)
(3)
(4)

A B

N
/

i

o) ey s O T,

Wnﬁmmhnﬁiﬂnﬁmaaqm.-
1 At Ya¢ E aaredia 20 s o,

7 7l TR C T TE 8 what fia C A% = Yee @S e, maﬁra‘ﬁrmﬂ
aaﬁs’mm:nﬁ

Study the map of roads that connect cities A, B, C., D and E as shown in the
accompanying figure. Design the route such that you start from any city of your
choice and walk on each of the seven routes once and only once, not necessarily
returning to the city from which you had started. For a route that satisfy the given
restriction, select the true statement from the given list.

(1)
(2)
(3)
(4}

A Bl

N

C D

None of the routes satisfies the given restrictions.

D can be the only intermediate colony in the route.
The route has necessarily to be ended at E.

A route can either start at C or end at C but not both.
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57. U Gl Yorgal UH T o fiesavarea At aed. ydiw e v Werge s
SrmE 21 o e 3. TR0 SR wReana 100 e O W Fdt aafir fowo s ow
T TS e A g U e ). aSeR e edieea™ waifs o
Freret anfir faem wgor 700 7o et whaean smmart fovdt o w@re et A ?

(1) 45

{(2) 50

3) 75

(4 100

In a certain game, the players have three chances during each turn to earn points.
Each consecutive win awards more points than the previous win, The second win
awards 100 points more than the first and the third win awards twice as many
points as the second win. Lachhi won the maximum number of points during her
turn and received a total of 700 points. Select the option which indicates the number
of points that are first won.

(1) 45
(2) 50
(3 75
(4) 100

A

58. X & Y 337 faenefi e mRvga vl swwamidl =] v, A uwAse s faeg
e 1-5 frft A anftr e TRiE Ju1 e SRS q@en @ 2 fefl SR ot T, ™
i gt 25 et ?
1) 7Tmf
@ ofeh
(3) 8fgfi
4) 5T

Two students X’ and Y’ started walking from their school to reach their homes. They
walked in directions opposite to each other for 1-5 km and then each one turned to
his right and walked 2 km and reached home. What is the distance between their
homes ? | |

(1) Tkm

(2) 6km

(3) 8km

(4) 5km
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59.  Tezeieh WA AW wHN A e A rrEn, ST Repmen anft e wiee d9er s
o A b aularer srriugwla IR S@d 9 TR A S avR T Adle et e

e Faw.

SEAHEE HEE TS aEHR Aafwien seem wea fafdy EiciR-e |
A wEE LA F. & T e

3. oW

(1) Tz @) aaTrfBTs' 3 FAafr= (4) - 3 T 8

Study the situation given with a blank and the list of words. Select the pair of words
such that each of these when used for blank, fit the meaning of the description as a
whole and produce completed descriptions having similar meaning.

The life forms evolved naturally on the land made barren by volcano is
strong evidence that humans, too might be able to inhabit the area in the distant
future.

a. wilting b. nascent c. waning d. incipient

e. stagnant

{1) bandd {(2) bande (3) aande (4) aandd

80. o faur snfo wmar smia frsed 32 & snga. ond Frspd svaen wafa faen.
& B Jaea. 1@ C 2 J ied. &4 P3 C Ai@a. |
A, F& C? B R
3. TR PEJIE
%. @ B® C3ngd.
(1) a9 o Afr (2) wua o M 5
(3) wd (4) A T

Three statements and conclusions based on these are given below. Select the
appropriate option with valid conclusion/s.

All Bs are Js. Some Cs are Js. All Ps are Cs.

Conclusions :
a. Some Cs are Bs.

b. NoPisd.
c.  Some Bs are Cs.

(1) Onlyaandb (2) Onlybandc
(3) Al (4) None
mmm { SPACE FOR ROUGH WORK ' P.T.O.
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6l. UH SHEY 15 g& anfor 10 geft anga. ?ﬁ?wm(random)ﬁagmaﬁ
@wmmwwmmm TR,

21 25
D %% | T
1 . 3
— 4H =
3) 50 4) 25

In a class, theré are 15 boys and 10 girls. Three students are to be selected at
random. The probability that 1 girl and 2 boys are selected is

21 25
2= 2y =2
(1) 6 (2) 17
1 3
il 4y =
(3) 50 (4) 25

62, TR TSI GEAT UUHIS] Helag HI! THEE 1R, qHeAl T qRerel i sarhi=l S8t g
1T BT & A 3 i TR e | e, ww@aw@%ﬂaﬁmﬁr
T g G der, sl e fh
i Seerr gl R, @wﬂﬁw@aﬁmﬁ?”uﬁmﬁgﬁmﬁaﬁﬁ%ﬁ‘
R e i A AR G A S 1
© T W AR, §R Eie el
T qe W AR, IS G Il

Ted} BT ITR/ATR ?
(1) = (2) qa
(3) BRI (4) g7 27 gt A

You wanted to employ a hardworking gardener for your second home. Your friend
gave names of the persons; Jeda, Muta and Haka and informed you that one always
tells the truth, another tells the truth alternately and the third always lies.
After meeting them you asked, “Who among you is a gardener ?” Each one answered
as follows :

~ Jeda :Iam the gardener. Muta is a liar.
Muta : I am the gardener. Haka is a liar.
Haka : Muta is the gardener. Jeda is a liar.

Who is/are the gardener(s) ? .
{1) Jeda (2) Muta -
(3) Haka (4) Both Jeda and Haka
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69 ke ofeeberder ez R s i i vt s
mﬁa@mﬁ,mmmmammmmmmm
TR TR T YA S ST, g NS § FefshigS e
WmﬂM@_Wmmm.mmmW‘
e Yier I AR 9 W e e 19,310 Rl S seeien SR W wKd.
TN e ST R ST g 2T R gedean s ank @ A A e .
(1) R aitf . |

(2) ¥ TR TS .

(3) R Wi e weTEn TR .

@) < ¥ Wi A ey i e T 39,

Select the odd option with respect to the role of the last sentence in the following
paragraph : ' ‘ '
Pluto’s moon Charon may be significantly reducing the loss of atmosphere of the icy .
planet by creating a shield and redirecting much of the solar wind away. Pluto’s
relationship with Charon is one of the more ﬁnusual interactions in the solar system

" due to the moon’s size and prdximity. ‘This moon is more than half of Pluto’s
diameter and orbits only 19,310 kilometres away. You know that our moon is three .
times closer to the Earth and as large as Mars. '

(1) Make unfamiliar familiar.
(2) Supports the claim made.
(3) Put into perspective Pluto’s relationship with Charon.

(4) Help to picturize Pluto’s relationship with Charon.
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T X3 Y& 4 SR feelt s = do emeda w afeae R e, e gfear
TR AR ¥ AP TevR @4 gfkare Faen

X Rt 7 B 1508 Wl ¥ aEd wriwen aden W YareT st @
F4q TEE. .

Y., Hart 2017 Al @i AT g1 AEd I T 7997 99 HEeArs WER
& I

o :

A afFE gem fawm wvp fewe am A, For dET 16 = eeh A
it A B0 3 A9 Yeme e geE &, |

7. ot wenfatf R fewa Y e, s e 5 v S wed) wivda
STrdTre Aftward aid s FmvEE A T S e IR e o,

¥, HOMERH qufiea g eI Al AEE TS T 79T EE Aaed Fiew

C odf ardle sEded e Reags @ weREE 3EE.

(1) wa| T @) T

(3) % I T 4) T

Given below‘are. two statements X and Y, and afguments related to these follow.
Consider each of the arguments separately and select all that apply.

X. Drawings made by Leonardo da Vinci in 1508 of the internal parts of the
human body shows mesentery as an organ.
Y. In January 2017, mesentery is declared as the new 79*R organ of the human
body by researchers by studying it in detail. '
Arguments :
a. They can be considered as logically inconsistent since people were aware of
- presence of mesentery in 16t century and Vinei's drawing gives evidence of it.
b. They can be considered as contradictory because though researchers declared

1
(3

" mesentery as a new organ people knew its presence in the human body for at

least 5 centuries.

They are complementary as researchers gave recognition to already known
mesentery by calling it the 79th organ of the human body after studying it in

~ detail.
Only a : (2} Eitheraorhb

All except ¢ 4) Al
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65, . mmmmmmmmwaﬁaﬁm EREi

e, .

SARITea falieT T e I et 2 TRET 30 waia I .

(1) o g govHT 9 aftss fERiAT U 3 39

(2) FTT B FOIEE B gomd GEMe TR 68 319 A

(3) mmwﬁﬁmmm@ﬁmﬁammmwﬁm
Jred ATdT.

(4) THETATAT FAEREAT Foa FIH THRRGICT] Fal=a IraT w6l g,

' The committee on sexual discrimination in the workplace has highlighted a certain
company as a chief offender. Of the twenty-five senior executives in the firm, only
two are women. And of the fifty-eight junior executives, only ten are female.

The company could best defend itself against the charges by showing that
(1) they pay the same salary to senior men and senior women
(2) ten times more men than women apply for jobs with the company

(3) the work pressure and long hours make jobs with the company unattractive to
married women

(4) all job applicants who were rejected had fewer qualifications than those
accepted '

66. T3 TR TewT w9 Ren owE g AT I e, FwEud wak e T

s, _

o S e & Yo wm weh o,

+» O TS WHEdn @9 e R g sea, e It s Rehiia
AR AT, |

o  HIEEH ATEHTE 419 U digcd FrwediE anerian 3N HAE SHrEEt AEar.

e o1 TigER Saeel g wagw W, Gww w9, gl o fio s W6, T
A, FAag JEmE A, FEEa @9 TR WA, T@ ARG, IAEA G, T o
g,

: .

. T FRugd TR w1 g o IR ST At HaM SHOATETd)

e, TFem, Fg T TARE TN RS R e, e s a o
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Aapll, IR T T TR T EFHH I TEWFTH VRIS SarA T fhad
firmvarem g foam 6 e onfhy Jrededs e &, o1, Al 9 9, fafm
g femman vl S Tl feen qvrdl, stem TRl SEET STEA
s gar Wy ficht wifgs, + o s @ =t T @y s

et AT AT W =T A dait, il 9 e a1 faad Bie ek,

FI T Bl d AT ARERE! § Tt Feal A8,

Fad N I G HEEE TERS AT T FUai Foarg Wl 9 o3 qiondl anfifs
WUE §i.

T A FEAE $ET ¥ B FRAE T@d!, ad It N AaEEEd TR

.

Given here is a set of facte and courses of action are suggested after these. Choose
the most appropriate option related to these.

A suicide by farmers hag become daily routine.

All related predictions are getting weird due to changing climatic conditions.
Consumer biased media are in the forefront in creating hype over increasing
prices, _

New practices like remote sensing agriculture based on accurate analysis,
nutri agriculture, safe food producing agriculture, wireless agriculture, climate
smart agriculture, variable fertilizer application agriculture, knowledge
facilities like wind mapping, vield mapping, water quality mapping, etc. are in
vogue but farmers are not aware about these.

Courses of actions :

a.,

C.

1)

(2)
3

4)

Government, voluntary organizations and agricultural universities should
work in collaboration for preparing a squad of intelligent, technically skilled,
hardworking and honest agricultural assistants for empowering farmers to use
new agricultural ways of producing safe food.

Quality produce should be distributed in order to gain appropriate price with
the initiative and collaboration of farmers, self-help groups and consumers and
at the same time government should plan policies for maintaining quality of
sources of air, water, soil, various ecosystems and prevent their deterioration.
Government should assist political parties capaciously which are toiling for
giving relief to farmers by waiving off their loans and giving them relief.

All the three, farmers, farming and consumers will be benefitted only if all
three courses of actions are implemented.

Only ¢ can be implemented urgently and is beneficial for all.

Courses of actions only a and b being complementary with each other, if
implemented together, farming and in turn economy will prosper.

Other occupations will prosper along with farming only by implementing a and
preventing implementation of h.
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67. anidw 43 frmeid 13 o e o e T R o Rt @ digash
ama. 21 et DY wREd T@ Aigaet s, et T Sigaden frmeakh A
e oy R 9 dices @9 | ol v, s oo

et s Remet=h v Teieoma A faEs.
(1) 35 (2) 22
(3) 28 (4) 32

In a class of 43 students, 13 enrolled for both Spanish and Portuguese 21 enrolled
for Portuguese. If the students of the class enrolled for at least one of the two
subjects, then select the option that indicates the number of students who enrolled
only for Spanish and not Portuguese.

(1) 35 (2) 22

(3) 28 (4) 32

68, e S st o et @ e siefifeT srdient Ao adarh g
AT M TR IgBT HIRST WSw IgBred HAGE AW Ui v g9

frem.

N

N
1 2 2 V2
(3) 2x 4) =2

Study the accompanying ﬁgure with a circle inscribed in a square, that is inscribed
in a larger circle and select the option which indicates the ratio of larger circle to

that of the smaller circle.
W 2 | @ V2
3) 2=n 4 nf2
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69. THT ITAIH. 12:5TF T 16,000, 3 Iur=m e fafediar in wufavara awae =@
: FAIS Hod. §9 e W TS AH Ha AAA, T I FRRAT SE edl B IS

T ?
{1) < 78125 {(2) =T 71850 -
3) 87825 {4) ¥ 68725

In order to buy a lift pump for his well, Sunil borrowed ¥ 16,000 for 3 years at the
rate of compound intrest of 12-5 p.c.p.a. What would have been the difference in the
interest on this principal had he borrowed it at simple interest ?

1) T 78125 ' (2) T 71850

3) T 67825 ' 4) T 68725

70. ﬁémm%ﬁwuaﬂhaﬁawhﬂam

A, BT C I 91T T GUIKIR 3Ted 901 U 39a A8, A @ B 1 Srmidier s 40 fmft amg
0 AT C W AT A 110 fReft s,

ueft X = BT C 31 anmeite 3T

usft Y = 60 foolt

(1) X udft o3 am.

(2) Y g st mdt ok,

(3) A et WA TR,

(4) fecem migden U el geesy ffvas war o .

Select the appropriate option with respect to the given information.

Parks A, B and C lie in a plane but do not lie on a straight line. The distance
between Parks A .and B is 40 km, and the distance between Parks A and C is
110 km.

Quantity X = Distance between Parks B and C

Quantity Y = 60 km

(1) Quantity X is greater,

(2) Quantity Y is greater,

(3) The two quantities are equal.

(4) The relationship cannot be determined from the information given.
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71. Tl %9l A ofer B 91 29 g fismr 7 ;5 91 Yo s, Sew w9 e fasm

F Had G B g @ F PIOe sRen |/ A Infr B R WHIOT 7 1 9 WISl W 1 SRy

et A 9 gE fedt swee ?
(1) 10 forex (2) 20 forex
(3) 21 fae (4) 25 forex

A can contains a mixture of two liquids A and B in the ratio 7 : 5. When 9 litres of
the mixture is drawn off and the can is filled with B, the ratio of A and B becomes
7 : 9. How many litres of liquid A was contained by the can initially ?

(D 10 litres (2) 20 litres
(3) 21 litres (4) 25 litres

72. 9 u FEAWIl UHA JE. AN FGER 2, 4, 6, 8, 10 W 12 T FrwmE.

30 fafemed e fordt Q1 ua awE ?
1 4 _ (2) 10
3) 15 : (4) 16

Six bells commence tolling together and toll at intervals of 2, 4, 6, 8, 10 and 12
seconds respectively. In 30 minutes, how many times do they toll together ?

(L 4 : (2) 10
(3 15 4) 16

73.  wwfaETe Aeft I9E A P

v5555449 =?
(1) 2357 (2) 32-57
(3 2257 4) 2457

Replace the question mark choosing the correct alternative.

5555449 =?
(1) 2357 (2) 3257
@) 22-67 4) 2457
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74. R Sl orgs T fae.
= p_>5 ® 3p+2q _
.q 4’ 3p-2q
32
1 —
(1) 7
15
2 —_
(2) 3
23
3) <2
3) 7
8
4 —_—
€Y 15
Replace the question mark choosing the correct alternative.
£ 2_5 then 3P*2 _,
q 4 8p-2q
3
1 2£
oy -
- 15
2 —_
(2 3
23
3 -
(3) 7
8
4 —
4) T
75. wma@wgﬁﬂm3%wmﬁﬁﬂmﬁmmmzﬁmm

FEATAHT IS, T I TS TEIEE 5 3 T mﬁ%ﬁmﬁam

1 o

(2) -5

(3) -30

(4) 20 .

If 3 less than twice a certain number is equal to 2 more than‘ 3 times the number,
then select the option that is 5 less than 5 times the number. '

1 0
2 -5
3) -30
4 20

TV FIMTHTS AT / SPACE FOR ROUGH WORK
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Decision-making and Problem Solving questions no. 76 to 80.

78.

ST FE Fula G A A AE, Qe qIeaRS SENGIITeg EUSAT NG

q T T0T HAT TEE WO a€ sqedi U T qUsAThS el SR, TEyam

O AT GET T Seien Mal Hoedl [UsAEE et SHigguusl a9

e W R e AR, T,

(1) 2 TN A R quE FoArE 7 arEarEt wEnr e s geen wewen aufde
A AR e feEn deT Foanl @ @ T WEH avndiEn TER wE Qvard) fad
S .

(2) T TN SEHAITCEUTAT FHAT GAN7 SOl Hed QUK 9 @Al YR SAEvErsA

AR Ais FEOAERE] e SEsE wgEt fiadt wErn AdqEEn Auaadn
HHeA! 0.
(3) maﬁ ﬁ?ﬁﬂ@ﬁwﬁmmmwﬁmmm

(4) memmﬁawmmtma eSS Wiy W
e freavame g,

You were an avid dhol player as a teenager. You did not play it for few years till now
as you were busy with acquiring professional skills. At present, you are in charge of
solving the city’s pollution problems including noise pollution. A group of young
persons approached you to permit them to practice and play dhol for a festival to be
celebrated during next month and earn some money. Similarly, another group of
young persons already approached you with the problem of noise pollution in the city
with scientifically collected evidence. You will,

. (1) permit the dhol group to practice and play for few hours during the day only

~and request the other group to bear with the noise pollution for few months of
the year and allow the group to propagate the age old culture.

(2) request some responsible NGO to organise a workshop for all dhol groups for
helping them to understand the problem of noise pollution and assist them in
solving their problems related to earning money.

(3) organise a campaign for making people aware of the problems of noise pollution
by working in collaboration with health department, police department and
NGOs.

(4) organise a meeting with leaders of both the groups and request them to settle
the problem of preserving culture and prevention of noise pollution.

] BETHISE AT / SPACE FOR ROUGH WORK P.T.O.
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THR A ST W R AT T Q9 gEd R o A fiH Raw =W vz amen S
T R ok, g2 wm fefdst aTR it g9 FRonYS wTen 9 dan e yee e T
TR o S e AR ST G RS T HIIE I IEE T A AL e R
T T FTE T S § T W AR, N TS A oA,

(1) ¥ ffeen F8 e @R SYEREE Seivd Rseees divgy | amae Bdedd
(2) mmaaﬁﬁmmmwmma

(3) I YT MHRAR T 9w woren e e @ I ream @ anee 9y gevas

(4) EEYA STRIN I THFUG o8 IvaE F I e gHeT fieava anm.

You are the head of the hospital that provides services to one of the government
organisation. You have received a written complaint from one of the employees
stating that he is having a terrible pain in the throat and he did not eat solid food for
the last three days. He further stated that he is not given proper treatment for two
reasons; one is that he is from a reserved group and secondly he is not working on
the higher designation. As a head you know that there is some truth in this
complaint. For sorting out the things you will,

(1) diagnose the patient and direct him to the concerned specialist for further
treatment and supervige this treatment till he is satisfied.

(2) call up the meeting of your colleagues and subordinates and discuss the

seriousness of the illness of this patient and charges made by him.

(3) request the patient not to take this matter seriously and assure him that you

will look into this problem as soon as time permits.

(4) ask the concerned doctor to look inte the complaint and request him or her to
sort out the matter at a personal level.

FFTEqT HHTEIS! SIRT / SPACE FOR ROUGH WORK
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78, oliwia gl A T daRg 7 Qe o Wiy ol st St TR e
WIEHTH AT W goad el oM. e fiE, TNades el s s
Prasavarard! darg a1 T SIET HET IR qreTen U TR saedt weu Yedta ared g
W 9% A RV A0 FOM TgEeT Wik FHY i, T e S SO
frarl @ waa ST ST SRR A T AR A AT SR A wad
(1) mmwﬁwm,wwmww. |

2) aﬁwmmmmﬁmmﬁmmﬁwm
il Mt e,

(3 mwmmﬁaﬁ%‘yﬁaﬂwmmﬂmwm
dArpre ST TRTe ST T SR STHOTT ST @ SR Hiawie e TETH
FA. '

(4) SHEET TN WGl A S WU HTE ST HO.

Recently you have started voluntarily assisting people to give up their tobaecco and

alcohol addiction and lead a healthy life. As a lay person you always thought that

the people get addicted with tobacco or alcohol because of friends, relatives, out of

-curiosity and enj()};ment but recently you came to know that most of the people

employed as sanitation workers take to these habits to manage stress and ailments
as the unbearable smell, loathsome thoughts due to handling of dirt, and

experiencing feeling of discomfort all the time. This made you to rethmk about their
- plight by putting yourself in their shoes You will,

(1) not try to convince these people to give up their addictions hereafter.

(2) collect funds needed to make their life better by providing them necessary tools
that they are not getting at present.

(3) form an active group of persons and organisations who are genuinely interested
in making life better for these persons by conducting research on disposal
and recycling of all sorts of dirt.

(4) make arrangements for counselling these people with the help of professiona]
experts.
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I U WA Frel IR, T T ITAW G, [ IYHER FIAT Wisa|, & GAAE
IO A A, TG F I DA TR FEA AT FOT Felon
SEEETH wETd , @ I

wwean, i fafey wuefiag 3 @i TemR FEEA fle S A SRTEsst

R AHOA FEA YIS I @ @R el I S @R e e

TS STEwEE STEUIK R F R I Faifiaiens o IR, gR,

(1) @ fm Fd ot e o dF FEwE e G R SEdt
I F F A g gerean fafay wima A stee F wE e AT
F AHYT THIT A AT A1 ARaar R e & Bed e

(2) v Ffifie ®R gt um SI9Ed, ST TS weTat il Aeae B SR O

fr = : _ o o frat &R : 5 ;
e oAy 9y are. |

(3) urfor yrndie S @ S e ke e e v e wm st
Y PG THATHS HR HOITE Y HEITH HUATeT Ll A STt
TR S st H. | '

(4) OV WEEAHAT ST SIUATAT FHY, FEHIA 9 HTeiaeamy] reara daid 79
I ®W Wogd, gl gEeET SEWE SRR Aedi NEW IIREll sRarEnet

You are heading a government mission that aims at making innovations work and
providing better government services for people in rural areas. Many young
management school students are recruited to assist you. These persons are
enthusiastic, come up with brilliant ideas, are techno savvy, give amazing
presentations using their eloquence and communication skills, and are highly
assertive. At the same time majority of them being city dwellers for all their life, are
from affluent middle-class families, and are little aware of the plight of people living
with various kinds of scarcities and their marginalization due to social dogmas. They
lack patience and perséverance required for experiencing and understanding ground
level realities of the life of the majority people in rural areas and helping them to
take initiatives in making their life better. You will,

(1) make them realise that this mission is not for selling anything and make
people addicted to buy unnecessary commodities and they need to work with
people in different parts of rural areas and understand their life and
aspirations. -

(2) let them work with their ideas for some weeks using very little portion of funds
available and give them a chanece to improvise their ideas or come up with
realistic and down to earth ideas.

(3) arrange fieldwork based training for these persons with erganisations that are
experienced in doing constructive work in rural areas for empowering people to
work together for development of the society that they belong to. -

(4) instead of wasting time on the hi-fi ideas of better life of young recruits you ask
them work on some peripheral targets, and you go ahead with your experienced
colleagues for making the mission successful.
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80. TaRg TSTRia ww=E WEEE RS ARG FOI FaAEE FEeed |l el
TF A RN, HEHUTH I FHEr] dBOEETE] T B FEaE, FR e afdi
ToH A T veiad, & fawmngg 300 fEd SR e wig dEeE 9
amrenfia A fardt swodt, ot g ket am. g,

(1) 7 W 7w w0l 7o FyvaEh B @ g e seeEE e

(2) T uRT I W T TG ToH FRddd AT Th Wy § e ST
it et o7 e e W TEEE G,

(3) ST I = ¥ feerwrem RYE Jeean FEeT gueaHa At 92 smhE
TG a1 HEEIHT F.

(4) T Aiedh Tah FEEHEN T HREAST BRI TTiEda W FeA™ GO &=
areft wmTeft T wrwarE et .

You are a member of a team of experts that is responsible for conducting the
workshops for heads of the institutions in different States. While designing the
programme and work schedule it was suggested by some of the members that the
team should request the host office for arranging a visit of all team members to the
famous temple that is 300 km away from the place. You will, |

(1) request the members giving this suggestion to contact the person of the host
office for arranging this visit.

{2) request the members who are interested in visiting the temple to work out this
plan by contacting the person from the host office and telling them that you are
not joining them.

(3) suggest to the members to arrange the temple visit after completing the
workshop and not during the workshop period as it is against ethics.

(4) tell the members that some RTI workers are interested in knowing this
workshop programme and request them not to ask for arranging the temple
visit. |
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(8) mﬁh@ﬁ%ﬁmﬁﬁwmﬁm(wﬁ)m TAyfREr iR SHtRa o W
. FURTET F= T HeAE § Hifl HOATSAT AW Fed AE, 3 AV TA T AR AR WA
I Heredr ‘rlinmed gor e siiey wegemas sfufrm-82" ydiE wEdgen s
FE WA J Y AR FATA TF a9 FroarETed) A/ R FR vw e S e e
T WEA.

(9) T TR wEme fafds Foie I8 e IgERen @ TR WA Eia SdaTRaTEi
U3 IAE TEER AR, WA TORTRTETR WgTgE] INGENA SRRt IWUiRT WRT-1

AT TS 7 AT U W ATy .
- e "

9. %. 201, G ATt T FOATED! BV GeAd: YA et ?
(1) T ggHg g 2) IwarEg femmamn
(3) TSI UHElEa T (4)  TTEHWT TRES
W TR A I (3) T TR T 3l TR, S 1 W IR (3) BN,
AR ST 91 %, 201 T SRFE Q) ® T i swifen w6
‘grafan TS IR,

rr.a:.zol..@) @ @ @

T Tgd WEIT YTl YRF TATET QU SAGENTS § TSl At W
TRIRERST ™ ™ TERTEEARE g6t age il e 9 qreEET. gt
e HTdT TSR AT anacd, Afaet a1 e 9 T 1.
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